
INSTALLATION INSTRUCTIONS

SYMBIOTE.COM SYMBIOTE.COM

sheet 1 of 1p/n 97030709 rev C

Surface Backstop

Product Numbers
•	 BSXX

Hardware Pack:  SFAHP (96011201)

Required Tools
•	 #2 Phillips Screwdriver

1

On underside back edge of surface, align the back-
stop with pre-drilled holes in surface as shown in the 
above image. Attach with #10-12x¾" screws pro-
vided. Tighten all screws securely with a #2 Phillips 
screwdriver. 

#10-12x3/4" screws
(96121301)

Backstop

underside of surface

WORKSURFACES AND SUPPORTS


